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Johnny graphed the following situations for his algebra class. >
A. Mr. Roe asked a student to choose a humber B. Everyone scored at least 72% on the last

greater than negative four. _exam in Ms. Adam’s Health class.
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1. Is Johnny's graph for sifuation A reasonable? Why do you say that?
Yo  ha eovldprak ang nor~ber
2. Is Johnny's graph for situation B reasonable? Why do you say that?
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3. If the graph for situation A or B is not reasonable, how could the graph be changed to better
represent the situation? Describe in words or graph to explain.
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4. Caden is trying out for the wrestling team in a weight class that requires him to weigh greater than
or equal to 80 Ibs .Eess than 86 Ibs. T~
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a. Complete the simple inequalities that describe Caden's possible weights and graph.
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b. Create a graph on a single number line to represent Caden's weights and write ;;compound )
inequality that combines the two simple inequalities. S
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Linear Inequalities LT4

A statement that includes a combination of two inequalities is called a compound inequality.

5. The temperature in Yakutsk, a town in Siberia, in the winter is between -40°C and 5°C. Write and
graph a compound inequality to represent this situation.
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7. Write the inequality repr‘esen“".r.éd. .by the 'grl'zxph.
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' Linear Inequalities LI4

8. At noon, the temperature was 13°F. For the m@‘rhe temperature fell by an average of
2°F an hour, :

a. Is this situation discrete or continuous? Explain.
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b. Make a graph showing the change in temperature for six hours. Then write the domain and range
using a compound inequality and answer the questions.
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